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1) TRADE THEORY
Question No. 1/ Question ID 149 Marks: 2.00
What is the function of AC welding transformer?
Tt AfET TIBIHR &1 S &l 87

(A) O It changes to high voltage and low current ampere (Chosen Option)
g 3 dleco] 3R HY URT TR ¥ ggd Al % (Chosen Option)
(B) O It changes to high voltage and high current ampere
Tg I diecdl 3R I YRT TR § 95 il §
(C) O It changes to low voltage and low current ampere
g HY diecdl 3R HH YRT TR & gd 1T §
(D) O It changes to low voltage and high current ampere (Correct Alternative)
g Y dieeol 3R I YRT TAIR H g¢d SITdT @ (Correct Alternative)

Question No. 2 / Question ID 227 Marks: 2.00
What is the lower limit of size, if dimension is stated as

THR B! FH=reht Ty o 8 afe 3y 59 YR §ar T/ §

-- Global iTi YouTube Channel

24.75 mm (Chosen Option)
24.75 mm (Chosen Option)

(B) O 25.021 mm
25.021 mm

(C) O 25.00 mm (Correct Alternative)
25.00 mm (Correct Alternative)

(D) O 24.85 mm
24.85 mm

Question No. 3 / Question ID 115 Marks: 2.00
What is the name of the tool used in the sheet metal work is shown in the figure?

o A fewme 7Y 2fic Aed &1 # I fhT S T SUHRUT BT ATH T 872




(A) O Wing compass
fdT T
(B) O Jenny caliper (Chosen Option)
(Chosen Option)
(C) O Trammel (Correct Alternative)
(Correct Alternative)
(D) O Divider

Glohal iTi YouTube Ghannel

Question No. 4 / Question ID 313
Which type of pin is shown in the figure?

oz # fog veR o1 e feman mar g2

Marks: 2.00




®) O Taper pin Glohal iTi YouTube Ghannel

(B) O Split pin (Chosen Option)
fQee O (Chosen Option)

(C) O Cotter pin (Correct Alternative)
Plex fuT (Correct Alternative)

(D) O Spring pin
T fo

Question No. 5/ Question ID 320 Marks: 2.00
What is the first step of the autonomous maintenance?
A XLRGTd [ Ugdl R ER:IT%?
(A) O General inspection
Ay Ao
(B) O Increase operator knowledge (Correct Alternative) (Chosen Option)
3T BI 3T deIHT (Correct Alternative) (Chosen Option)
(C) O Autonomous management
WO Yy
(D) ©O Autonomous inspection
T e

Question No. 6 / Question ID 248 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o A femme e e O Rafgd 4Rt &1 9m |18




(A) O Thimble
frea

(B) O Datum line (Chosen Option)
cllg (Chosen Option)
(C) O Barrel
A

(D) O Vernier division (Correct Alternative)
(Correct Alternative)

iTi YouTube Channel

Question No. 7 / Question ID 286
What is the name of the thread shown in the figure?

fort & faame 7T ot &1 A 1 82

Marks: 2.00




(A) O Worm thread
ai 98

(B) O Buttress thread (Correct Alternative) (Chosen Option)
E@'\q AS (Correct Alternative) (Chosen Option)

(VO Sauare thread Glohal iTi YouTube Ghannel

(D) O knuckle thread
I IS

Question No. 8 / Question ID 156 Marks: 2.00
What is the storing capacity of an oxygen cylinder?

SHTeRToH RITER B HSRUT &idT a1 82
(A) O 10 m’ (Chosen Option)
10 m’ (Chosen Option)
B)O 14m’
14 m’
€O 15m’
15m’

(D) O 7 m’ (Correct Alternative)
m’ (Correct Alternative)

Question No. 9 / Question ID 182 Marks: 2.00
What is the purpose of clearance angle in twist drill?
fee f&a # sRilai™ €rel &1 3570 1 82
(A) O To prevent drill friction behind the cutting edges (Correct Alternative)
P TS & Fi0 {3 avur &1 AP & AT (Correct Alternative)
(B) O To prevent rough holes (Chosen Option)
ga} B Bl e+ o fIE (Chosen Option)




(C) O To prevent over sized holes
S 3MHR & BIed Bl A o forg

(D) O To prevent unequal angle of cutting edges

P TH & 3RIHE WA &I A+ & g

Question No. 10 / Question ID 85 Marks: 2.00
Identify the type of drilling machine whose spindle head is moved towards or away from the column.
ST 7= & TR Pt g B o RIS 58 HiaH & SR A1 39N g1 o ST Sl g |
(A) O Pillar drilling machine (Chosen Option)

[T HRAH (Chosen Option)
(B) O Radial drilling machine (Correct Alternative)

feaa ffei 7=+ (Correct Alternative)
(C) O Gang drilling machine
ﬁ.'l'l' .

(D) © Sensitive bench drilling machine

o9 fgfei #=ii=

Question No. 11 / Question ID 62 Marks: 2.00
Which part of the universal surface gauge holds the scriber?
AT TRBY 719l BT B I ST ThIgaR Pl Uhadl g2
(A) O Snug (Correct Alternative)
HT (Correct Alternative)
(B) O Fine adjustment screw (Chosen Option)
P13 TSSReHE ¥ (Chosen Option)

©0 Gudepi Global iTi YouTube Channel

(D) O Rocker arm
RAHR 3

Question No. 12 / Question ID 235 Marks: 2.00
Which steel is used for making cold chisels?
HIcs od T & T8 fod K BT ITANT T STl 82
(A) O Mild steel (Chosen Option)
ol K Id (Chosen Option)
(B) O Medium carbon steel
A e L Id
(C) O High carbon steel (Correct Alternative)
3w Pl K Id (Correct Alternative)

(D) O Dead mild steel
$S AEE id

Question No. 13 / Question ID 98 Marks: 2.00
What is the use of stakes in sheet metal work?
3fic Aed ab T WH BT F1 SUANT g2
(A) O Supporting piece (Correct Alternative)
RT 41T (Correct Alternative)
(B) O Rest of work (Chosen Option)
§T! B (Chosen Option)




(C) O For folding shapes
3Mpfadt B wies & e

(D) O For sharpening
YR do A & ferg

Question No. 14 / Question ID 191 Marks: 2.00
What is the name of the angle marked as ‘X’ shown in the figure?

o ¥ famame e x @ RIfgd Wet &1 19 o 82

al iTi YouTube Channel

(A) O Point angle (Chosen Option)
Uige WA (Chosen Option)
(B) O Chisel angle
EISNAYIS
(C) O Lip clearance angle (Correct Alternative)
I} WA (Correct Alternative)
(D) O Rake angle
b W

Question No. 15/ Question ID 16 Marks: 2.00
Which vice is used to hold hollow cylindrical jobs?
TR SAIBR Sid Dl Uhe & o foog argg &1 Sua fasan Sirdn 82
(A) O Pinvice
[EEKCIES]
(B) O Hand vice (Chosen Option)
%TJC%'EHBH (Chosen Option)




(C) O Pipe vice (Correct Alternative)

UTIgU digy (Correct Alternative)
(D) O Bench vice
CEEIR

Question No. 16 / Question ID 294 Marks: 2.00
Which safety step is necessary to be followed while working on lathe?
T IR BHTH HRd T D A YRET HGH BT UIA DT AP 672
(A) O Switch off the coolant
FAC HI TG PR G
(B) O Remove chips by bare hands
forey et =71 g1t 9§ Mepred
(C) O Do not make any adjustment during working (Correct Alternative)
PTH HId JHY HIs H FHTASH T B (Correct Alternative)

(D) O Job must be clamped properly (Chosen Option)
Sie P 31 T Fy fasdm ST A18T (Chosen Option)

Question No. 17 / Question ID 2 Marks: 2.00
What is the bin colour code for waste paper segregation?
UTRIP HHTST GYTHRU & g fa (FEsa) F1 71 i a1 82
(A) O Blue (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Black
hIcl

©O Red Global iTi YouTube Channel

(D) O Green
exl

Question No. 18 / Question ID 282 Marks: 2.00
What is the name of the part marked as ‘X’shown in the figure?

o # fezame mu x @ fRifgd ymT 1 W 8




al iTi YouTube Channel

(A) O Cross slide (Chosen Option)
P K38 (Chosen Option)

(B) O Tool post
A URE

(C) O Top slide (Correct Alternative)
e 1SS (Correct Alternative)

(D) O Saddle lock
BENANIED

Question No. 19 / Question ID 1 Marks: 2.00
Which class of fire is caused by fire wood, paper or cloth?
5T 9T Bt 3T THS!, BN T HUS I e 872
(A) O Class ‘D’ fire

HAE ‘D’ Bl 3N
(B) O Class ‘C’ fire
HA ‘C’ Dl 3N
(C) O Class ‘A’ fire (Correct Alternative)
FATH ‘A’ DT 3T (Correct Alternative)
(D) O Class ‘B’ fire (Chosen Option)
FINY ‘B’ P W (Chosen Option)

Question No. 20 / Question ID 205 Marks: 2.00




What is the name of the dresser shown in the figure?

o o faame 71U SR &1 A FT |2

al iTi YouTube Channel

(A) O Stone dresser
WM g

(B) O Diamond dresser
SAHS S

(C) O Star wheels dresser (Correct Alternative) (Chosen Option)
TR I 3’“'{ (Correct Alternative) (Chosen Option)

(D) O Abrasive stick dresser

Tifta e S

Question No. 21 / Question ID 87 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame e @ fifgd Wi &1 9H R 82




11T1 YouTube Channel

(A) O Spindle lock (Chosen Option)

A\

flh (Chosen Option)

(B) O Thimble (Correct Alternative)
firae (Correct Alternative)
(C) O Sleeve

D) O Spjndle

Question No. 22 / Question ID 97 Marks: 2.00
What is the other name of zinc coated iron?
i Aftd IR &1 guRT 19 1 82
(A) O Stainless steel
LA K|

(B) O Tinned iron
feTs MR
(C) O Galvanised iron (Correct Alternative) (Chosen Option)
ST el §31T GIE (ﬁﬁﬂﬁ'\?&' STYR) (Correct Alternative) (Chosen Option)




(D) O Black iron

CAGIKSIE]
Question No. 23 / Question ID 52 Marks: 2.00
Which marking media is applied in rough forgings and castings?
X BIFHT 3R BT H DI AT HTfoH T HISAT TR STl 672
(A) O Cellulose lacquer
TGS DR
(B) O Prussian blue
Ui &
(C) O White wash (Correct Alternative) (Chosen Option)
dqIgc dIRM (Correct Alternative) (Chosen Option)
(D) O Copper sulphate
DR
Question No. 24 / Question ID 271 Marks: 2.00

Calculate spindle speed for a turning dia 40 mm cast iron rod, if the cutting speed is 15 m/min.

40 fift g 9T = |ig 1 B & fo Risa wfis &) o &3, afe wfidn wlits 15 Hiey/ffme 71

(A) O 100.3 rpm
100.3 rpm

(B) O 109.4 rpm
109.4 rpm

(C) O 219.3rpm
219.3 rpm

(D) O 119.4 rpm (Correct Alternative) (Chosen Opti

119.4 rpm (Correct Alternative) (Chosen Oph%lnhal lTl vnuT“hﬂ cnannel

Question No. 25 / Question ID 181
Which process refers to the finishing of drilled hole?
I 1 ek fSa fobw T g1et o1 BRI 1 Hafifa #xcft 82
(A) O Reaming (Correct Alternative)
AfT (Correct Alternative)
(B) O Counter sinking
CIRIAOR
(C) O Counter boring
BIICR T
(D) O Spot facing (Chosen Option)
Wic BRI (Chosen Option)

Marks: 2.00

Question No. 26 / Question ID 47
What is the use of groove provided on the either side of a vee-block?

d-sdid & I 3R AT 7T Jd &1 1 ST 62

Marks: 2.00




(A) O For reducing the weight
ol HH B & feg

(B) O To reduce bearing surface (Chosen Option)
AR A8 DI HH B %%I’Q (Chosen Option)

(C) O For appearance

(D) O Holding clamps (Correct Alternative)
(Correct Alternative)

Question No. 27 / Question ID 145 Marks: 2.00
What is the melting temperature for soft soldering?

T e & for forge o1 aroH &1 872
(A) O 600°C
600°C
(B) O s00°C
500°C
(C) O Above 600°C
600°C ¥ S|

(D) O Below 420°C (Correct Alternative) (Chosen Option)
420°C ¥ (Correct Alternative) (Chosen Option)

Question No. 28 / Question ID 79 Marks: 2.00
What is the accuracy of a metric outside micrometer?

Hfew J3cuZs HAZHHICR B Feldhdl 7T 82 iTi
(A O 0002 mm Glohal iTi YouTuhe Channel
0.002 mm

(B) O 0.02 mm
0.02 mm

(C) O 0.001 mm (Chosen Option)
0.001 mm (Chosen Option)

(D) O 0.01 mm (Correct Alternative)
0.01 mm (Correct Alternative)

Question No. 29 / Question ID 111 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o # femame o X @ fofga iR w1 am = 82




11T1 YouTube Channel

(A) O Clamp (Chosen Option)

(Chosen Option)

(B) O Leverarm
foreR o
(C) O Lower blade

(D) O Upper blade (Correct Alternative)
&S (Correct Alternative)

Question No. 30 / Question ID 39 Marks: 2.00
Which is a soft skill?
HH-7 Wit R 32
(A) O Teamwork (Correct Alternative) (Chosen Option)
qo (Correct Alternative) (Chosen Option)

(B) O Copywriting

(C) O Marketing
HIG T




D) O Plan.ning

Question No. 31 / Question ID 284 Marks: 2.00
Which type of operation is carried out shown in the figure?

fory B AT 77U {35 YR b7 SHTORRIA b STl 872

al iTi YouTube Channel

(A) O Straight groove
4t 9
(B) © Round groove (Chosen Option)
ma Y1d (Chosen Option)
(C) O Vee groove (Correct Alternative)
al 9d (Correct Alternative)
(D) O Square groove

qd

Question No. 32 / Question ID 58 Marks: 2.00
Which metal cutting saw is used to cut large cross section area?
g Deq of&T If &1 ST 99 H19 VI &7 &) Hlc & forg faar Sirdr g2
(A) O Circular saw (Correct Alternative)
qr (Correct Alternative)

(B) O Power saw

UreR i
(C) O Contour saw

HeX Gl
D) O Horizgntal band saw (Chosen Option)

(v

CER] (Chosen Option)

Question No. 33 / Question ID 249 Marks: 2.00




What is the reading of vernier micrometer shown in the figure?

o # fezamy U afeR ATShIHeR &1 UTsuis T 82

11T1 YouTube Channel

(A) O 9.923 mm
9.923 mm

(B) O 9.563 mm
9.563 mm
(C) O 9.963 mm (Correct Alternative) (Chosen Option)
9.963 mm (Correct Alternative) (Chosen Option)
(D) O 9.763 mm
9.763 mm

Question No. 34 / Question ID 236 Marks: 2.00
Which tool is used to remove high spots on all flat and curved surfaces?
Tt YuTe 3R gHTER Ide! R 39 Yss| B geH & folY [ SUHRU1 H1 IGART foham Srdm 872
(A) O Hackvsaw

(B) O Scraper (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O File
Xl

(D) O Chisel
EISK

Question No. 35/ Question ID 105 Marks: 2.00




Which sheet metal is easier to joint using soldering?
ST BT ITTNT S g e Y1d B! SisT 39 872
(A) O Lead sheet
oS gfie
(B) O Tinned plate (Correct Alternative)
feswe (Correct Alternative)
(C) O Stainless steel sheet
LY T 2ie
(D) O Galvanised iron sheet (Chosen Option)
edISsS 3R e (Chosen Option)

Question No. 36 / Question ID 213 Marks: 2.00
Which bond is used in the grinding wheel of grinding mill rolls?
TFET i W9 & Ufen &ra | 59 a1 SuanT fasa il g2
(A) O Silicate bond (Chosen Option)

CIES] (Chosen Option)
(B) O Shellac bond (Correct Alternative)
CIS (Correct Alternative)
(C) O Vitrified bond
CBISS S
(D) O Resinoid bond
EIS)

Question No. 37 / Question ID 167 Marks: 2.00

Which f d [ h ing duri Idi p——
3R 3 drrr e om e 1 s P e 5 GODAN iTE YouTube Channel

(A) O Position of the weld
acS Bl

(B) O Length of an electrode
gdaeIS DI AdTg
(C) O Diameter of an electrode (Correct Alternative)
D[ AT (Correct Alternative)
(D) O Types of joint (Chosen Option)
& UHR (Chosen Option)

Question No. 38 / Question ID 147 Marks: 2.00
Which inorganic flux is used in soldering stainless steel metal?
AN W YT BT hehT T H [ SPHE-d Feiad BT IUANT far ST 872
(A) O Sal - ammoniac
1 -
(B) O Killed spirits

(C) O Muriatic acid
wRufes s
D) O Phosphorlc acid (Correct Alternative) (Chosen Option)
Qﬁl's' (Correct Alternative) (Chosen Option)

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 344 Marks: 2.00




What is the ratio of mechanical advantage to the velocity ratio of a simple machine?

TH YRV A & I 30T H TifAes a4 &1 SUTd 31 82

(A) O Efficiency (Correct Alternative)
(Correct Alternative)
(B) O Effort

T

(C) O Load

(D) O Power (Chosen Option)
UldR (Chosen Option)

Question No. 2 / Question ID 329
What denotes letter 'M' in MKS system?
MKS ToTTet! & "M 31&R 3T GRITdT 67
(A) O Micron
Micron

(B) O Mile
Mile

(C) O Millimeter (Chosen Option)
Millimeter (Chosen Option)

(D) O Meter (Correct Alternative)
Meter (Correct Alternative)

Marks: 2.00

Question No. 3 / Question ID 335
What is the ratio of power output to power input?
Yfdd 3M3eye 3R Xfad 7YC BT SIaTd H gidl 82
(A) O Acceleration
[CRUY}
(B) O Efficiency (Correct Alternative)
Q& dT (Correct Alternative)
(C) O Work

(D) O Energy (Chosen Option)
(Chosen Option)

Marks: 2.00

Global iTi YouTube Channel

Question No. 4 / Question ID 338

Marks: 2.00

What is known for the temperature at which any solid melts into liquid?

g I R $I5 319, &a H g g2

(A) O Latent heat of vaporisation
CINCRUCIRIE R

(B) O Latent heat of fusion
RIS 1 [ ST

(C) O Melting point (Correct Alternative)
AP (Correct Alternative)

(D) O Baoiling point (Chosen Option)
FIYIPH (Chosen Option)

Question No. 5/ Question ID 345
Which is equal to sin6?

sin® 5 & SRTeR BT 272

Marks: 2.00




(Chosen Option)

(Chosen Option)

(Correct Alternative)

(Correct Alternative)

Question No. 6 / Question ID 337 Marks: 2.00

What is the S.I unit of heat?

S BT TH. TS, IHTS, 1 87

(A) O Centigrade heat unit (Chosen Option)
Centigrade heat unit (Chosen Option) =

(B) O Joule (Correct Alternative) alﬂhal ITI vﬂuT“hﬂ cnannel
Joule (Correct Alternative)

(C) O British thermal unit
British thermal unit

(D) O Calorie
Calorie

3) ENGINEERING DRAWING

Question No. 1/ Question ID 368 Marks: 2.00
Which arrow head is correct as per standard?

AFS & TR B A1 IR 2 Tt 82
(A) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




Question No. 2 / Question ID 366

Marks: 2.00

Which single stroke inclined letter 'A' is correct as per IS standard?

IS AM® & AR I 41 RiTd Wb afiéamd dex 'A' Tl 87

(A) O

Glohal iTi YouTube Ghannel




(€) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Glohal iTi YouTube Ghannel




(D) O

Question No. 3 / Question ID 358 Marks: 2.00
|dentify the name of prism?

fomr & feRamq U oy &1 918 o 82

1 YouTuhe Channel

(A) O Pentagonal prism

(B) O Hexagonal prism (Correct Alternative) (Chosen Option)
firss (Correct Alternative) (Chosen Option)




(C) O Square prism
IR fireH
(D) O Triangular prism

Question No. 4 / Question ID 360
Identify the name of tool?

JYHU[ hl q1H L4IESTJI:|'?

(A) O Sledge hammer
W g

(B) O Cross pein hammer (Chosen Option)
B9 Ui %‘HT (Chosen Option)

(C) O Straight pein hammer
SIDREEIS)

(D) O Ball pein hammer (Correct Alternative)
CIGRY G %'FI'\’ (Correct Alternative)

Marks: 2.00

1 YouTuhe Channel

Question No. 5/ Question ID 347
Identify the conventional symbol of material?

oz 7 fewme v grht &% uRue Udie 1 udr ama?

Marks: 2.00




(A) O Concrete (Chosen Option)
9 (Chosen Option)
(B) O Asbestos

Glohal iTi YouTube Ghannel

(C) O Glass
CIE]

(D) O Water (Correct Alternative)
iG] (Correct Alternative)

Question No. 6 / Question ID 364 Marks: 2.00
Which dimension correctl¥ marked in the circle as per standard?
A% & SIAR Jhd § DI 1 AW el o 4 fIfgd 82




Glohal iTi YouTube Ghannel




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Glohal iTi YouTube Ghannel

4) EMPLOYABILITY SKILLS

Question No. 1 / Question ID 507 Marks: 2.00
CPU stands for
"CPU" ¥ AT § -
(A) O Central Programming Unit (Chosen Option)
Central Programming Unit (Chosen Option)
(B) O Central Processing Unit (Correct Alternative)
Central Processing Unit (Correct Alternative)
(C) O Central Progress Unit
Central Progress Unit

(D) O Central Planning Unit
Central Planning Unit

Question No. 2 / Question ID 458 Marks: 2.00
Gesture “Brisk and erect walking” shows

" SR el T AT GTE-HT .. Qe -
(A) O boredom
IRsH




(B) O confidence (Correct Alternative) (Chosen Option)
STAIY™ (Correct Alternative) (Chosen Option)
(C) O defensiveness

(D) O insecurity

Question No. 3/ Question ID 374 Marks: 2.00
Jobs that have become outdated in the past 5 years
......... Mot S fwd 5 a6t & R 81 e 7
(A) O STD booth (Correct Alternative) (Chosen Option)

STD §Y (Correct Alternative) (Chosen Option)
(B) O swiggy

Swiggy
(C) © ola

3ffer
(D) O uber

JR

Question No. 4 / Question ID 493 Marks: 2.00
Something is made of different types of units
FD 7 FS A UHR B 3H3al 4 a1 g......... |
(A) O unity (Chosen Option)
U dl (Chosen Option)

(B) O iet N
st Glohal iTi YouTuhe Channel

(C) O equality
HHECT

(D) O diversity (Correct Alternative)
fafqean (Correct Alternative)

Question No. 5/ Question ID 416 Marks: 2.00
Which one is in active voice?
Ifshg STars & B 1 87
(A) O The ball was caught by him.
The ball was caught by him.

(B) O Ram has passed the exam. (Correct Alternative) (Chosen Option)
Ram has passed the exam. (Correct Alternative) (Chosen Option)
(C) O The book was being read by her.
The book was being read by her.

(D) O We were driven home by dad.
We were driven home by dad.

Question No. 6 / Question ID 494 Marks: 2.00
The way money is saved, spent and invested
T aRE T U ST Sl 7, W fohan Siran g SR o fear s g
(A) O banking (Chosen Option)
T (Chosen Option)
(B) O financial literacy (Correct Alternative)
HI&R T (Correct Alternative)




(C) O income
3

(D) O salary

Question No. 7 / Question ID 418 Marks: 2.00
Which one is NOT a conjunction?
DI 1 UH G el 872
(A) O And (Chosen Option)
And (Chosen Option)
(B) O Or
Or

(C) O On (Correct Alternative)
On (Correct Alternative)

(D) O But
But
Question No. 8 / Question ID 566 Marks: 2.00
A person is someone who works for a person/organization and gets paid for that work.
T e 98 & Sl [l AfFa/ATE & oY HTH ol § SR 39 HIH & [l Y HRdl §

(A) O Self Employed (Chosen Option)
(Chosen Option)
(B) O Wage employed (Correct Alternative)
(Correct Alternative)
(C) O Entrepreneur

Global iTi YouTube Channel

(D) O None of the above

T A SIS Tl

Question No. 9 / Question ID 485 Marks: 2.00
When you speak to a person, you need to

SIS 31T fopet safad A o1d Bd @, o 3
(A) O Look at the floor
AT B

(B) O Stare at the person

(C) O Look away from the person
R 3@l

(D) O Look at the person in a friendly manner (Correct Alternative) (Chosen Option)

T B fhﬁl?qu:Uf GE{EC | aﬁl (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 398 Marks: 2.00
Fill in the blank with proper interrogative adjective. are you going?
Ifrd SeRAfed farivur & Ty e i Wi | are you going?

(A) O What (Chosen Option)
What (Chosen Option)
(B) O Where (Correct Alternative)
Where (Correct Alternative)
(C) O Who
Who




(D) O Which
Which

Question No. 11 / Question ID 503 Marks: 2.00
A software application used to enable computer users to locate and access web page is called

SR ITNTHAS B aF UST Jio MR TR H B G&H B & (o SUANT fadT S a1 T Adeaar
URIHIA .......... HEA G |
(A) O web server
a9 IR
(B) O website (Chosen Option)
aﬁlﬂ'l's?f (Chosen Option)
(C) O email
EEK
(D) O web browser (Correct Alternative)
a9 AR (Correct Alternative)

Question No. 12 / Question ID 539 Marks: 2.00
Which one is NOT a storage device?
P U WRol fSargd et g2
(A) O USB flash drive

ERRURCIEE
(B) O Printer (Correct Alternative)
fiiex (Correct Alternative)
(C) O Video tape
Gl

Global iTi YouTube Channel

(D) O Memory card (Chosen Option)
(Chosen Option)

Question No. 13 / Question ID 473 Marks: 2.00

Which one is considered to be a good communication?
DI I TH 3BT TGR AT ST 87
(A) O Message is ambiguous (Chosen Option)

T 3P g (Chosen Option)
(B) O Sender is positive towards receiver (Correct Alternative)

& Ufd TUh IPRTHD % (Correct Alternative)

(C) O Sender attacks receiver

TN T RETIR TR gHAT BT

(D) O Receiver doesn't listen to sender

Tl & &1 Tal AT

Question No. 14 / Question ID 550 Marks: 2.00
contains one or more worksheets.

T s 11 31 HTduFS B | |
A) O Document

(B) O Address bar

Ul ugt
(C) O Workbook (Correct Alternative)
(Correct Alternative)




(D) O Workfile (Chosen Option)
(Chosen Option)

Question No. 15/ Question ID 423 Marks: 2.00
can help me learn English.
T iUl WeH & g o udhdl g
(A) O anger
DY
(B) O dedication (Correct Alternative) (Chosen Option)
famT (Correct Alternative) (Chosen Option)
(C) O fear
SX
(D) O shyness
3
Question No. 16 / Question ID 584 Marks: 2.00

What does 'M' stand for in SMART goal?

SMART A& ¥ 'M' &1 T 31 872

(A) O Manageable (Chosen Option)
Manageable (Chosen Option)

(B) O Meaningful
Meaningful

(C) O Measurable (Correct Alternative)
Measurable (Correct Alternative)

(D) ©O Memorable

Memorabie Glohal iTi YouTube Channel

Question No. 17 / Question ID 415

Which one is an exclamatory sentence?

S A1 fawrfeaie® ared g2

(A) O Your house is beautiful. (Chosen Option)
Your house is beautiful. (Chosen Option)

(B) O Itis a beautiful house.
It is a beautiful house.

(C) O Is it abeautiful house?
Is it a beautiful house?

(D) O What a beautiful house it is! (Correct Alternative)
What a beautiful house it is! (Correct Alternative)

Marks: 2.00

Question No. 18 / Question ID 448
Which of these statements is true?

T A B I YT TG 82

Marks: 2.00




(A) O Only a few cities have job opportunities.
FD Bl eI H AR & SaW g |
(B) O Salary in metro cities is always higher than small towns
Te IR § A SHM BI e o1 o1 H HfF 8T §
(C) O All jobs are available in all cities. (Chosen Option)
Tt Tt guft e & Iuas §1 (Chosen Option)

(D) O Some cities have more opportunities than others for certain job roles. (Correct
Alternative)

FO e A $O ANPial & I goRl &1 ga-1 A ARF 3@ gid &1 (Correct Alternative)

Question No. 19 / Question ID 380 Marks: 2.00
is major changes takes place in manufacturing.

........... e AT B UG UREAT 1A B

(A) O Green revolution (Chosen Option)
gRd ®ifd (Chosen Option)
(B) O Food revolution
qre shifd
(C) O Water revolution
oIt Shifdl
(D) O Industry revolution (Correct Alternative)

IRT Wifd (Correct Alternative)

Question No. 20 / Question ID 581 Marks: 2.00
The 4 stages of getting customers are

6 YTt B & 4 IR0T §
(A) O Acquisition, Retention, Satisfaction, Loyaltyalmlel]] xnumnﬂksnannel

Acquisition, Retention, Satisfaction, Loyalty (Correct Alternative) (Chosen Option)
(B) O Attention, Retention, Satisfaction, Loyalty

Attention, Retention, Satisfaction, Loyalty
(C) O Attention, Retention, Sales, loyalty

Attention, Retention, Sales, loyalty

(D) O Acquisition, Remember, Satisfaction, Loyalty
Acquisition, Remember, Satisfaction, Loyalty

Question No. 21 / Question ID 478 Marks: 2.00
Which one is NOT an element of 3P’s of public speaking?

9 4 S ufstes RAfHT & 3 P BT dd 7T 22

(A) O Practice
Practice
(B) O Posses (Correct Alternative) (Chosen Option)
Posses (Correct Alternative) (Chosen Option)
(C) O Prepare
Prepare

(D) O Perform
Perform

Question No. 22 / Question ID 551 Marks: 2.00
A person who is associated with the starting of business is called
T Hfad Sl STT B YIATT A IS, S ..o CEHIGIE
(A) O entrepreneur (Correct Alternative)
IHT (Correct Alternative)




(B) O merchant
aR
(C) O businessman (Chosen Option)
(Chosen Option)
(D) O sales executive

Question No. 23 / Question ID 376 Marks: 2.00
Values are

(A) O not punctual
HYMAY 51
(B) O Motivates our attitude and action (Correct Alternative) (Chosen Option)
TR @I 3R WTSE P AINT FRa1 3 (Correct Alternative) (Chosen Option)
(C) O all have same value
It &1 Jog I9H B
(D) O very costly
Sgd BIHd!

Question No. 24 / Question ID 531 Marks: 2.00
Which one is a “Don’t” of information security?
LI GRET T DI gl STaT?
A) O Encrypt Iaptop hard drlve and moblle devices
, BTS S13d YT HISTSd UGN & UrehP HRAT

(B) O Use hard to guess passwords o

q|{-|<:15r G2l 31-1J.||-—| Q14||:| %‘%‘q&ﬂ%‘-—[ﬂ'&hﬂm alnhal ITI vnuT“he cnannel
(C) O Disclose password to anyone (Correct Alternative) (Chosen Option)

fdt 1 Y urgas sarn (Correct Alternative) (Chosen Option)

(D) O Take backup data of your PS periodically
JHI-0G TR U YRt 1 93T Sl ol

Question No. 25 / Question ID 525 Marks: 2.00
What is shortcut key for “Paste” command?
"URe" HHTS & foTT Tche BT (Goih) FT 82
(A) O Ctrl+X

Ctrl + X
(B) O Ctrl+C
Ctrl + C
(C) O Ctrl + A(Chosen Option)
Ctrl + A (Chosen Option)
(D) O Ctrl +V (Correct Alternative)
Ctrl + V (Correct Alternative)




